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Time—2 Ho
NB — (1
(i1)
(111)

(1v)

urs Maximum Marks—40
Attempt A/l questions.
Figures to the right indicate full marks.
Negative marking system for MCQ is applicable.

Use black ball point pen to darken the circle of correct answer
in OMR answer sheet. Circle once darkened is final. No

change is permitted.

(MCQ)

1. Choose the correct alternative for each of the following : 1 each

(1)

(i)

J. A cos x d\ =
(a)  Asin x+ ¢ (b) —Asin x+ ¢

A2 A2
(0 ECOS xX+c (d) ?Sin X+ c

Which of the following standard forms is true ?

(a) Icos xdx=sin x (b) J.cosh x dx=sinh x

(0 Both (a) and (b) (d) Neither (a) nor (b)

P.T.O.
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X
d
I(x— 3) J(x+1)

3 x+1-2
2{x+1 +—=1o
(a) 5 g

+1-2
(b) 2X—3+%10g &

(o 2 X+3+§10g x+1-2

3
2x-3+—=1
(d) X 5 og

1/x+1+2

J‘tan3 xdx=
(@) tan® x+ log cos x (D)
tan? x

(0 + cos x+ C (d)

1/X+1+2

1/x+1+2

1/X+1—2

tan? x

tan? x

2
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+ log cos x

— log cos x

Which of the following statements of the definite integral is

correct ?

b
@ | dx=-[Fa - Fb)

b a
(b) fﬂ){) dx= - fﬂ){) dx
a b

(o Both (a2) and (b)

(d)  None of the above
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(vi) JSGCZB xcosec?’? xdx=.mviiiii...
(8 -Stan?x (b) Stan V3 x
(0 ~-3 tan'® x (d) 3tan"? x+ ¢

(vi) If A is a region bounded by the curves y= £(x), y= £,(x), x=a

and x= b, then [[ (% ») dA =........
A

£(x)
o 1{f rerdls

7%

~

b (%
@ {H Ax » dy dx

a f(x)

H(x)

[ fix . dx[dy

{(%)

(o

N —

£(x)

[ fix p dytdx

}(X)

~
&
N

(viiy | FetdE=

0
(@ J(x+1) (b) x/x
(0 Both (A) and (B) (d None of these
(ix) ~ The value of |(1/2) is ....ccec.....
(@ = b n
1{1
2 — =
© Az @ S5

P.T.O.
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b d
(% J.f(X) dxx_[g(ﬁ dy =
bd
@ [ & dxdy
bd
b _”ﬂX) gy dy dx

(© gy x dx dy

R —
o ——n,

bd
d ”ﬂﬁ &% dx dy
ac
(Theory)
Attempt any two of the following : 5 each

(a) If {x) and ¢(x) be two functions of x, then prove that :

[£0 60 dx= £ f0dx-[1£(0] £(x) dxidx
(b Show that :
jxm(a+ bx")Pdx =

X (a + bx")P _Hnp+ m+n+1)

j ™1 (g + b¥)Pdx

am+1) am+1)
(0 Evaluate :
Isinﬁ x dx.
Attempt any two of the following : 5 each
(a) Prove the reduction formula for sec” x dx.

(b Define definite integral and prove that :

fﬂx) dx = fﬂx) dX+ff(X) dx.
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(0 Evaluate :
T xsin
ELLEIPE
o 1+ cos™x
4, Attempt any two of the following : 5 each

(a) Prove that :

/2 _I(_Iﬂ) @

_[ cos?™ 1 9sin?"1 0 do = )
0 2|(m + n)

(b Prove that :

Bm, ) - ()
(m+ n)
(o Evaluate :
111-%
'[ '[ J‘ x dy dx dz
0,20
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